
BCM SCHOOL , BASANT AVENUE , DUGRI ROAD , LUDHIANA 

    CLASS – IV MATHEMATICS REVISION ASSIGNMENT – 2 

        SUBTRACTION & MULTIPLICATION 

1. Choose the correct option: 

What is the difference of the largest 4-digit number and the smallest  

3-digit number? 

a) 9999  b) 9899  c) 9998 

 

2. 1 thousand – 10 hundreds=________ 

 

3. State true / false: 

When a number is multiplied by 0, the product is always zero. 

 

4. The product of 15 and 9000 will be______ 

 

5. If the sum of two numbers is 9,450 and one number is 4,950 then find 

the other number. 

 

 

6. Solve: 4 x 325 x 25 

 

7. There are 252 toys in a box. How many toys are there in 132 such 

boxes? 

 

 

8. Ms. Rehana had ₹ 9,500 with her. She spent ₹ 3,295 on a dress and  

₹ 2,500 on grocery. How much money is left with her? 


